
Statistics Competition 2024.

 Questionnaire checking

A - Upper secondary

1 - Basic knowledge test

Version: 1          Language: en

1.

20,81 or -10,81A.

19,14 or -9,14B.

24,21 or 18,21C.

17,14 or -18,21D.

Three students A, B and C independently solve an exercise with
probability of correct solution 1/2, 1/3 and 2/5, respectively. They submit,
without revealing their identity, their solution and the professor finds two
correct answers. The probability that student A gave the wrong answer
is:

2.

0,22A.

0,44B.

0,33C.

0,50D.

3.
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0,83A.

0,66B.

0,34C.

0,65D.

4.

A.

B.

C.

D.

5.

0,25A.

0,08B.
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0,48C.

0,3D.

The mean and standard deviation of 15 numbers is 3 and 1 respectively.
If we add the number 3 to the double of each number, then the new mean
and the new standard deviation will be respectively:

6.

6 and 2A.

6 and 4B.

9 and 7C.

9 and 4D.

7.

B and CA.

A and CB.

A and DC.

C and DD.

8.
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A.

0,998B.

0,925C.

0,075D.

Two boxes A and B contain 50 balls numbered {1 ,2 ,3 ,…,49 ,50} each.
From each box we randomly select one ball. The probability that the
number of the ball selected from box B is less than that of the box A at
least by 2 is:

9.

0,53A.

0,45B.

0,25C.

0,47D.

A box contains 3 red, 6 white and 2 black balls. Red balls contain 2 euros,
white balls 1 euro and black balls are empty. We choose 3 balls at random
and give the red ones to Thanos and the white ones to Maria. The
probability that Thanos gets more money than Maria is:

10.

0,39A.

0,15B.

0,61C.

0,33D.
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Version: 2          Language: en

1.

23,71 or -13,71A.

22,32 or -12,32B.

25,21 or -17,21C.

18,14 or -17,21D.

Three students A, B and C independently solve an exercise with
probability of correct solution 1/2, 1/4 and 2/5, respectively. They submit,
without revealing their identity, their solution and the professor finds two
correct answers. The probability that student A gave the wrong answer
is:

2.

0,55A.

0,18B.

0,27C.

0,50D.

3.
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0,33A.

0,85B.

0,67C.

0,69D.

4.

A.

B.

C.

D.

5.

0,09A.

0,01B.
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0,3C.

0,28D.

The mean and standard deviation of 15 numbers is 5 and 2 respectively.
If we add the number 3 to the double of each number, then the new mean
and the new standard deviation will be respectively:

6.

13 and 8A.

8 and 4B.

10 and 8C.

13 and 11D.

7.

C and DA.

A and BB.

A and CC.

B and CD.

8.

3 / 4



0,993A.

B.

0,975C.

0,025D.

Two boxes A and B contain 40 balls numbered {1 ,2 ,3 ,…,39 ,40} each.
From each box we randomly select one ball. The probability that the
number of the ball selected from box B is less than that of the box A at
least by 3 is:

9.

0,55A.

0,75B.

0,33C.

0,45D.

A box contains 4 red, 6 white and 1 black balls. Red balls contain 2 euros,
white balls 1 euro and black balls are empty. We choose 4 balls at random
and give the red ones to Thanos and the white ones to Maria. The
probability that Thanos gets more money than Maria is:

10.

0,47A.

0,36B.

0,53C.

0,46D.
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Version: 3          Language: en

1.

21,71 or -15,71A.

19,14 or -9,14B.

19,81 or -11,81C.

17,14 or -18,21D.

Three students A, B and C independently solve an exercise with
probability of correct solution 1/2, 1/3 and 3/5, respectively. They submit,
without revealing their identity, their solution and the professor finds two
correct answers. The probability that student A gave the wrong answer
is:

2.

0,50A.

0,18B.

0,55C.

0,27D.

3.
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0,71A.

0,85B.

0,29C.

0,69D.

4.

A.

B.

C.

D.

5.

0,16A.

0,56B.
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0,09C.

0,3D.

The mean and standard deviation of 15 numbers is 4 and 1 respectively.
If we add the number 3 to the double of each number, then the new mean
and the new standard deviation will be respectively:

6.

11 and 7A.

7 and 2B.

11 and 4C.

8 and 4D.

7.

B and CA.

A and CB.

B and DC.

A and DD.

8.

3 / 4



A.

0,955B.

0,996C.

0,045D.

Two boxes A and B contain 60 balls numbered {1 ,2 ,3 ,…,59 ,60} each.
From each box we randomly select a ball. The probability that the number
of the ball selected from box B is less than that of the box A at least by 4
is:

9.

0,57A.

0,43B.

0,25C.

0,33D.

A box contains 4 red, 7 white and 1 black ball. Red balls contain 2 euros,
white balls 1 euro and black balls are empty. We choose 4 balls at random
and give the red ones to Thanos and the white ones to Maria. The
probability that Thanos gets more money than Maria is:

10.

0,41A.

0,07B.

0,59C.

0,32D.
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